BEX—IK2 (A4 B#HK)

SHMIEI RN
REAZEIXAKE ERKERREBERBEE
BEKEFME 9:00
KERBRHEREREE (ERFKS BEAKRH#E TR K ) )
g _— - KR & E p H FLhY | REE AR bt (A7) % 8% -
E REW | 4AF> A |(BRXE
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ | %)

1 = 10.0 8.6 10.5 1.75 22
2 [55] 15.0 10.8 5.9 1.75 30
3 i 9.3 12.0 30.7 1.73 84
4 = 9.5 10.2 15.7 7.82 n
5 = 1.0 10.3 10.8 1.75 35
6 = 13.5 1.2 8.0 1.75 33
7 = 8.0 14.0 10.2 1.78 29
8 = 8.3 10.2 10.2 7.65 26
9 = 10.8 10. 6 6.6 1.77 23
10 i 14.0 11.9 8.8 7.83 55.0 73.0 147 10.3 0.48 0.02 25
" i 9.8 12.2 9.8 7.81 35
12 = 12.1 1.4 10. 6 1.79 25
13 58] 8.9 10.7 9.6 8.02 40
14 i 14.5 10. 6 55.3 7.68 70
15 i 13.5 12.0 26.4 7.69 64
16 i 14.5 12.8 1.4 7.81 30
17 i 16.2 13.0 10. 6 1.77 55.0 72.0 155 9.3 0.58 0.02 42
18 i 12.7 13.1 13.7 7.61 38
19 i 14.0 13.0 12.1 1.74 28
20 i 15.0 14.0 12.6 7. 60 55
21 = 18.0 14.6 11.6 7.88 32
22 i 15.9 13.1 468.0 1.72 1,629
23 i 10.0 10. 4 223.0 1.1 292
24 i 12.7 11.5 38.9 7.65 118
25 i 13.5 12.1 19.8 1.72 58
26 i 13.8 12.4 1.7 1.75 49
27 i 14.0 13.7 1.1 7.63 42
28 58] 15.5 12.7 1.4 7.69 49
29 i 18.1 13.8 25.8 7.80 479
30 i 17.7 12.9 156.0 7. 66 370
31 i 19.0 14.8 26.8 1.72 126

Ty 13.2 12.1 4.7 1.74 55.0 72.5 151 9.8 0.53 0.02

=xE 19.0 14.8 468.0 8.02 55.0 73.0 155 10.3 0.58 0.02

&IE 8.0 8.6 5.9 7.60 55.0 72.0 147 9.3 0.48 0.02




THM3EIA/AN
REMETIEMKE KEABRERBEE (BERFKE)

BROKEER 9:00

KERBRERBREE (ERFKE Bkt (E K))
g iz - KR & E p H FILH) SEE EH bt (7] £ 7:z T
E REW | 4AF> Hy
C C E mg/| mg/| mg/| mg/| mg/| mg/|

1 = 10.0 10.0 2.6 7.49

2 58] 15.0 10.2 2.2 7.54

3 i 9.3 10. 6 2.1 7.45

4 = 9.5 10.0 2.0 1.27

5 = 1.0 10. 4 2.2 7.38

6 = 13.5 1.4 2.0 1.37

7 = 8.0 13.0 2.9 7.56

8 = 8.3 11.9 2.4 7.29

9 = 10.8 10.2 2.4 7.50

10 i 14.0 11.3 2.1 7.50 52.0 71.0 146 9.7 0.08 <0.02

" i 9.8 1.7 2.6 7.50

12 = 12.1 12.2 2.0 7.50

13 58] 8.9 11.3 2.6 7.65

14 i 14.5 1.7 2.2 7.45

15 i 13.5 10.3 2.7 7.43

16 i 14.5 11.8 2.4 7.69

17 i 16.2 12.2 2.1 7.48 50.0 74.0 135 8.5 0.08 <0.02

18 i 12.7 12.5 2.5 7.28

19 i 14.0 12.8 2.1 7.40

20 i 15.0 13.4 2.5 7.35

21 = 18.0 14.2 2.4 1.41

22 i 15.9 14.2 2.8 1.37

23 i 10.0 11.5 2.1 1.26

24 i 12.7 10. 4 2.4 7.34

25 i 13.5 1.0 2.3 1.47

26 i 13.8 12.0 2.1 7.35

27 i 14.0 12.5 2.5 7.34

28 58] 15.5 13.0 2.2 7.35

29 i 18.1 13.5 2.1 1.47

30 i 17.7 13.4 2.4 1.41

31 i 19.0 13.3 2.5 7.46
Ty 13.2 11.9 2.3 7.43 51.0 75.5 14 9.1 0.08 <0.02
=xE 19.0 14.2 2.9 7.69 52.0 71.0 146 9.7 0.08 <0.02
xIE 8.0 10.0 2.0 1.26 50.0 74.0 135 8.5 0.08 <0.02




